
TROVA L’ADDENDO MANCANTE 
 

 

__ + 35 = 77 

 

__ + 38 = 120 

__ + 69 = 100  47 + __ = 137 

__ + 80 = 111 99 + __ = 143 

16 + __ = 51 59 + __ = 157 

__ + 94 = 161 __ + 89 = 115 

__ + 65 = 92 93 + __ = 186 

35 + __ = 134 48 + __ = 104 

__ + 47 = 97 __ + 21 = 48 

46 + __ = 61 72 + __ = 148 

20 + __ = 51 __ + 18 = 110 

__ + 55 = 103 __ + 32 = 58 

__ + 93 = 168 __ + 76 = 106 

49 + __ = 87 35 + __ = 79 

70 + __ = 141 37 + __ = 58 

__ + 19 = 96 __ + 37 = 98 
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TROVA L’ADDENDO MANCANTE 
 

 

60 + __ = 101  

 

37 + __ = 88  

31 + __ = 63  43 + __ = 69  

__ + 61 = 105  43 + __ = 66  

26 + __ = 79  __ + 49 = 99  

__ + 61 = 112  __ + 51 = 82  

__ + 40 = 92  26 + __ = 87  

__ + 21 = 71  __ + 26 = 88 

__ + 42 = 73  37 + __ = 100  

63 + __ = 117  31 + __ = 55  

__ + 38 = 101  54 + __ = 100  

46 + __ = 107  __ + 54 = 77  

__ + 52 = 87  63 + __ = 121  

__ + 34 = 58  47 + __ = 107  

50 + __ = 99  49 + __ = 89  

28 + __ = 53  __ + 27 = 74  
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